IMD calculations

Method A

output voltage:

fO := 250Hz

-3
Vg p = 706.47-10° °V

fl:= 8kHz

-3
Vg p = 176,010 7V

-6
Viy R A = 12627:107 OV

simulated A:
f3g A = 8.5kHz Via R A = 9582110 OV
f2, = 7.75KHz Vep | A = 1117010 O
3, = 7.5kHz Via A = 855.80-10” OV
ViRRA T VR2LA -
IMD A calc: d2, = d2p =135x 10 °
VILA
ViB.RA T Vi3LA -
d3p = d35 = 1031 x 10 °
VILA
2 .2 -3
IMD = /dzA +d3p IMD = 10.40 x 10
IMD, = 1.04%
IMDp ¢ := 20-log(IMDp) IMDp o = —39.66 [dB]
Method B f0 := 250Hz f1:= 8kHz

output voltage:

-3
Vg g = 1761310 "V

-3
Vg g = 709.37-10 °V

simulated B: f3g g = 8.5kHz Via g = 628410 v
3, g = 7.5kHz Via | p = 5381107 %V
VBRB* VIB.LB -
IMD B calc: d3g = d3g = 16444 x 10 °
VLB
[12 2 -6
IMDg := [d3g IMDg = 164.44 x 10
IMDg = 0.016%
IMDg ¢ := 20-log(IMDg) IMDg o = -75.68  [dB]
R means right of f1, L means left of f1
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